[In a number of countries, some people think it is necessary to spend large sums of money on
constructing new railway lines for very fast trains between cities. Others believe the money
should be spent on improving existing public transport.

Discuss both these views and give your own opinion.

With the-increasing demand for convenience in commuting between
metropolitan eitiesareas, ways to improve the public transportation system
have-beenare being heatedly discussed. Some people indargue,
investing a large amount of money in the construction of new railways that
connects cities is hecessary, but-however others argue that

reinvention and renewal of the current transportation system would be more
financially efficient. | would-agree that building new railway lines is a better
way to improve convenience in the public transportation system.\

Convenience is the main reason why railway lines should be updated.
The main reason railway lines should be updated is it is more convenient.

It is_a ensiderablyreasonable policy fferpeople to suggest investing in

improvements ef for the current railway system, as there are several
advantages. With areadilyalready exising-eenstruected railway systems, the-a
renewal can include reduced or minimised construction, leading to a
possibly-likely shortened period bﬂmconstruction time. For example, in
Melbourne over the last several decades the government has invested
considerably in maintaining and restoring old railway lines. This allows them
to not only make life more convenient for the average resident but also divert
additional money into other areas that impact urban travel such as the quality

of roads and subsidized ticket prices. Governments...

It is a reasonable approach to update existing lines as it is more convenient
and cost effective. existing — shorter time. example - Melbourne - recent
decades - restoring. allows ...

On-tep-of-thatMoreover, the alternationiconcomitant| disturbances in city

planning can be minimised as well, since there eould-would be less need for
demolition and resettlement of existing buildings, all contributing to less
interference offor city dwellers lite during the construction period, and a
viably-less budgetary expenditure required.]

preponderance-justifications forin investing in a new railway system ismore
obviousare self-evident.| With-the-modern and-atest technology-advances in
transportation system construction; allows for building faster trains Ftself—isl
possible;-and such an improved system can contribute to more convenient
commuting for the average citizen. Take the instance of mmaglev trains,
their construction dees-requires a-considerablely large-ameountresourcesof
money, but-however/yet the efficiency in commuting is greatly improved as
transporting between cities locateding 200 kilometers apart could-can take
less than one hour. think of a further possible result — In the long-term, cities
and nations within a few years will have recouped the initial costs in time

savings.
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| Regarding the feasibility ofly lessless expenditurebudget in renovating the
current railway

systems] itthere is also increased risk as eould-be-diminished-by the factor [Comment [Dave21]: in general - plural ]
that the-eurrent railway systemthey may be-being too old to improve, which

in return could lead-necessitatete higher-demand-in-investmentgreater

investment,| ( comment [Dave22]: cutit )

Overall, to-the budget alarge amount-of meney-infor renovating the-current
railway systems is-fairlyrationalcan be justified;- for-the-lessening

interruptions toef peeple's-the public’s pace of life. However, it-this
justification/policy/proposal/sentiment is not sufficient eneugh-to diminish the
long-term advantages of building an improved and faster web-system of
rallways in my oplnlon slnce such an organlzed system ean—east—a—mere

more convenlent.l
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